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Divide 3 digit by 1 digit with remainder:

7 | 832 9 | 911 51810 7 | 759

Word problems:

1. 225 mobile sets are to be packed equally in 5 cartons. How many
mobiles will be kept in each carton?

2. The price of 2 sets of television is $950. How much does each T.V.
set cost?

3. 168 trees are planted equally in 2 rows. How many trees are there
in each row? How many are left to be planted?

4. A tailor has 160 buttons. He stores these buttons equally in 8
boxes. How many buttons are in each box?

5. A farmer harvested 153 lemons. He packed the lemons into 9
wooden boxes. How many lemons did the farmer place in each
box?

6. 870 balls are equally packed in 3 boxes. How many balls are

packed in 1 box?
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